Financial Treasury and Forex Management 3 7 3

RAIDMD.aeeeieiiaeeeeiaiaannns
Time allowed : 3 hours Maximum marks : 100
Total number of questions : 7 Total number of printed pages : 7

NOTE : 1. Answer FIVE questions including Question No.l which is compulsory. All
working notes should be shown distinctly.

2. Tables showing the present value of Re.l and the present value of an annuity
of Re.l for 15 years are annexed.

L Comment on any four of the following :

2

While deciding upon the capital structure, the firm has to consider the different
life cycle stages.

Financial services industry encampasses a considerable range and depth of activities.
Tools and techniques of treasury manager are very specific.

Traditional approach of business finance considers efficient utilisation of resources.

z B Ee

Playing with float is a risky proposition.

(5 marks each)

2. @ Priyanka Ltd. has the following capital structure as on 31%° March, 2009 :

Rs.
Equity shares : 20,000 Shares of Rs.100 each 20,00,000
10% Preference Shares (of Rs.100 each) 8,00,000
12% Debentures (of Rs.1,000 each) 12,00, 000
40,00, 000

The company’s shares are sold in the market at Rs.110 each and it is expected
that a dividend of Rs.10 per share would be declared for the year 2009. The
dividend growth rate is likely to remain at 6%.

) You are required to calculate the weighted average cost of capital, if the
company comes in the tax bracket of 30%.

(i) The company is planning to diversify its production activities and intends to
borrow a sum of Rs.20 lakh at the rate of 15% per annum. This financing
decision is expected to increase dividend from Rs.10 to Rs.12 per share,
however, the market price of the equity share is likely to decrease from
Rs.110 to Rs.105. What will be the company’s revised weighted average cost
of capital ?
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(i) Priyanka Ltd. has the following investment opportunities that are typical
average risk projects for the company :

Projects Cost (Rs. 1in Lakhs) Rate of Return
(t=0) (%)
A 10 17.4
B 20 16.0
c 10 14.2
D 20 13.7
E 10 10.0

Which project(s) should Priyanka Ltd. accept ? Why ?
(4+3+3=10 marks)

D Ratan Enterprises requires 1,80,000 units of a certain item annually. The cost
per unit and the cost per purchase order are Rs.6 and Rs.600 respectively. The
inventory carrying cost is Rs.6 per unit per year.

) What is the economic order quantity ?
() What should the firm do if the supplier offers discount as below :

Order Quantity Discount
(3)

9000-11999 2

12,000 and above 3

(6 marks)

© On 1° October, Deepak is retiring from service and he will get an amount of
Rs.16,32,000 as retirement benefits. He is planning to invest this money in the
following three scripts, which he considers grossly under-valued stocks in the market :

Stock No. of Shares Price Beta
(Rs.)

2,000 300 0.42

3,000 416 0.65

4,600 330 1.72

It is September now and he plans to take advantage of this mispricing in the stock
market by using futures market. How many October contracts will you be trading
if the spot index is 3,990 and Octcber futures are quoted at 4,062 ?

(4 marks)
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An Indian importer has to settle an import bill for $1,30,000. The exporter has
given the Indian exporter two options :

) Pay immediately without any interest charges.
(i) Pay after three months with interest @ 5% per annum.

The importer’s bank charges 15% per annum on overdrafts. The exchange rates
in the market are as follows :

Spot rate (Rs./$) : 48.35/48.36
3-Month forward rate (Rs./$) : 48.81/48.83
The importer seeks your advice. Give your advice.
(8 marks)

Zebra Ltd. was started a year back with paid-up equity capital of Rs.40 lakh.
Other details are as under

Earnings of the year : Rs.4,00,000
Dividend paid : Rs.3,20,000
Price-earnings ratio : 12.5
Number of shares : 40,000

You are required to find out whether company’s dividend payout ratio is optimal
using Walter’s Model, giving reasons.

(6 marks)

A futures contract is available on a company that pays an annual dividend of Rs.5
and whose stock is currently priced at Rs.200. Each futures contract calls for
delivery of 1,000 shares of stock in one year, daily marking to market, an initial
margin of 10% and a maintenance margin of 5%. The corporate treasury bill rate
is 8%.
) Given the above information, what should the price of one futures contract
be?

() If the company stock price decreases by 7%, what will be the change, if any,
in futures price ?

(i) As a result of the company stock price decrease, will an investor that has a
long position in cne futures contract of this company realises a gain or loss?
Why ? What will be the amount of this gain or loss ?

(6 marks)

4 Distinguish between any four of the following :

il

z 2 Ee

‘Deep discount bonds’ and ‘disaster bonds’.

‘Financial aspects of project appraisal’ and ‘economic aspects of project appraisal’.
‘Index futures’ and ‘index options’.

‘Initial margin’ and ‘maintenance margin’.

‘Corporate finance’ and ‘business finance’.

(5 marks each)
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5. @ The spot exchange rate is Rs.15/% and the three months forward exchange rate is
Rs.15.20/8. The three month interest rate is 8% per annum in India and 5.8% per
annum in Germany. Assume that you can borrow as much as Rs.15 lakh or
Q10 lakh.

) Determine whether the interest rate parity is currently holding.
(i) How would you carry out covered interest arbitrage ? Show all steps and
determine the arbitrage profit.
(4 marks)
P Silver Coin Ltd. is a manufacturing company. It has received an export order of
1,80,000 units. The finance manager of the company is estimating working capital

requirements for the production to meet export order. Following information is
given for the year 2009-10 :

) Production in 2008-09 was 1,80,000 units and it is estimated that in
2009-10 the level will be maintained.

(i) Each unit will remain in process for one month. Raw material being charmelised
into the pipelines immediately and the labour and overhead costs accruing

evenly during the month.

@) Final production will be stored in warehouse awaiting despatch for 3 months.

g

Credit allowed by creditors is 1.5 months from the date of delivery of raw
materials.

Credit permitted to debtors is 2.5 months from the date of despatch.

Selling price per unit is Rs.15.

The expected ratios of cost to the selling price are raw material 50%, direct
wages 15% and overheads 20%.

(dil) Raw materials are expected to remain in store for an average of 1.5 months
before issue to production.

(¥ There is regular production and sales cycle.

®

The company maintains Rs.60,000 as cash in hand.

&) Wages and overheads are paid on the first of each month for the previous

month.

You are required to submit the working capital requirement to the finance manager
of Silver Coin ILtd.

(16 marks)
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6. Surya Manufacturers is planning to start a new manufacturing process. Following are
the estimated net cash flows and probabilities of the new manufacturing process :

Year Net Cash Flows (Rs.)
P=0.2 P=0.6 P=0.2
0 (-) 2,00,000 (-) 2,00,000 (-) 2,00,000
1 40,000 60,000 80,000
2 40,000 60,000 80,000
3 40,000 60,000 80,000
4 40,000 60,000 80,000
5 40,000 60,000 80,000
5 (Salvage) 0 40,000 60,000

Surya Manufacturers cost of capital for an average risk project is 10%.

@
o

The project has average risk. Find the project’s NPV.

Find the best case and worst case NPVs. What is the probability of occurrence
of the worst case if the cash flows are perfectly dependent (perfectly positively
correlated) over time and if they are independent over time ?

Assume that all the cash flows are perfectly positively correlated, that is, there
are only three possible cash flow streams over time : (i) the worst case; (ii) the
most likely or base case; and (iii) the best case with prdoabilities 0.2, 0.6 and 0.2
respectively. These cases are represented by each of the columms in the given
table. Find the expected NPV, the standard deviation and co-efficient of variation.

(20 marks)

7. Write notes on any four of the following :

Types of swaps

Capital rationing

Technical aspects of feasibility report
Trade credit as source of finance

ABC analysis.

(5 marks each)

—— 0 — —
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